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! " PTM name=<PTM composition> (one per line).
Example:

Acetyl peptide N-term=H(-6) C(-7) O(-1)
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fzzzinis Algorithm to calculate the logarithm of a
# get the Table 3 which corresponds to table newSC
t =
# get the constant column 10 of the table t ( Speci
# mutable() is called to be able to
specificSCCol =
# number of rows of
nb =
# loop on the data of
for i in range
# calculate the log (NaN values
VvV =
if \Y <=
specificSCCol[i] =
else:
specificSCCol[i] =
# set the column name which will be used

specificSCCol.setColumnName("log(specificSC)")

colu

modify

for

to

mn HH

Protein Set
Table.get(3)

Quanti

fic SC
data
t[10].mutable()

column)

the column

len(specificSCCol)
the column
(0,nb):
errors)
specificSCCol[i]
0:
float('NaN")

math.log(v)

the use r



# add the created column to the table t
t.addColumn(specificSCCol)

##H#H#  Algorithm to perform a difference and a mean b etween two columns ####

t = Table.get(9)
colAbundancel = t[3]
colAbundance2 = t[5]
# difference between two columns
colDiff = colAbundancel-colAbundance2

# set the name of the column

colDiff.setColumnName("diff")

# mean between two columns
colMean = (colAbundancel+colAbundance2)/2
# set the name of the column

colMean.setColumnName("mean")

# add columns to the table
t.addColumn(colDiff)
t.addColumn(colMean)

1

##H#  Algorithm to perform a pvalue and a ttd on abu ndances column of a XIC
guantitation Hit#
t - Table.get(1)

pvalueCol = Stats.pvalue( (t[2], t[3]), (t[4].t[5]) )
ttdCol = Stats.ttd( (t[21, t[3]), (t[41,t[5]) )

pvalueCol.setColumnName("pvalue")
ttdCol.setColumnName("ttd")

t.addColumn(pvalueCol)
t.addColumn(ttdCol)
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! PTM name=<PTM composition> (one per line).
Example:

Acetyl peptide N-term=H(-6) C(-7) O(-1)
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